
Tiggo 2022
Page 1 of 5

01-06-2022

Qty Qty Description

A 4 I 6 M10 x 30 x 2mm Flat Washers

B 4 J 4 M10 spring washers

C 4 K 2 M10 T bolts

D 4 L 2 Top Brackets LH & RH

E 4 M 2 Clamp brackets

F 4 N 2 Bottom Brackets LH & RH

G 2 O 2 Bottom Join Brackets LH & RH

H 4 P

Qty Qty

M8 x 35 set screws

Kit content:

60 

Minutes

Product CHERY TIGGO 4 NUDGE BAR

Part no. 10055T

DIAGRAM

Additional equipment/Material needed for fitment :
socket set

Spanner set

Description

Precautions during fitment:

M10 Hex Nuts

M8 x 22 x 1.6mm Flat Washer

M8 Spring Washers

M8 x 25  set screws

M8 Black spring washers

M8 Black Flat Washers

M10 x 30 sets

masking tape

screwdriver set

Be extra careful when removing bumper from vehicle . 

ACCESSORY FITMENT 
INSTRUCTION

L

M

O

PASSENGER SIDE
PASSENGER SIDE

N



Page 2 of 5

Step #Visual / Graphic Illustration

Now fit the bottom brackets as shown in Fig2. Drivers 

side shown , do the same on opposite side. Brackets are 

marked D for driver side and P for passenger side.

4 Once the brackets are on then place the nudge bar on 

the brackets and check that it is center and level.

Description/Method

Remove Front bumper1

2

Find the centre of the crash beam and mark , then 

measure 280mm and mount the top brackets as shown 

in FIG 1.Adjust the bracket so that the distance from 

top of bracket to top of crash bean is 50mm as shown in 

Fig 1

3

Fitment Instruction:
Tiggo 4 Nudge bar

K

280 280

35mm

C

B

A

H
J

I

FIG 1

FIG 2



Page 3 of 5

Step #Visual / Graphic Illustration
Description/Method

5
Using FIG 4 as an illustration, loosley mount the bottom 

bracket to the intermediate bracket as shown in FIG 3. 

Do the same on the Drivers side

6 Mark and trim the dustcover as show in FIG 5 and 6. 

Repeat process on Driver side. 

Fitment Instruction:
Tiggo Nudge bar

Fitment Instruction:
Tiggo 4 Nudge bar

I

A

N-OIG

FIG 4FIG 3

N O

FIG 6

HJ

105110

70
FIG 5



Page 4 of 5

Step #Visual / Graphic Illustration
Description/Method

7
Now replace the bumper carefully over the brackets 

being careful to not scratch the bumper Grill , the top 

brackets will protrude through the top grill. This 

requires minimum 2 people to fit bumper back.

8
Once the Bumper is replaced you can fit the Nudge bar 

onto the brackets , centralise and tighten using the M 

Nickel Black hardware on the top and bottom brackets. 

Finish it it off with the M8 black plastic caps, Fig 8

Fitment Instruction:
Tiggo 4 Nudge bar

M8 Nickel black hardware
and then use the M8 black 
plastic caps. 

FIG 8

FIG 7



Final step
Page 5 of 5

Make sure bar is centralised and tighten all fasteners to specified torque. 

M8= 22Nm , M10= 42Nm , M6= 9Nm.


